Coding of Responses to Test items

Pre-programmed code in SoSciSurvey:
1 = I'm sure this sounds natural

2 = I think this sounds natural

3 = I think this does not sound natural
4 = I'm sure this does not sound natural

Re-coding needs to be done with the correct test items T101_01 to T'101_09

T101_01 (A) 1. Do you have any homework today? 4 = I'm sure this sounds natural
T101_02 (A) 2. Do you know anyone at that school? 4 = I'm sure this sounds natural
T101_03 (A) 3. T haven’t heard anything from Jane for weeks. 4 = T'm sure this sounds natural
T101_04 (A) 4. T don’t want any salad today. 4 = T'm sure this sounds natural
T101_05 (A) 5. ’m sorry I said anything about your driving test. 4 = I'm sure this sounds natural
T101_06 (A) 6. I regret that I told anyone about our plans. 4 = I'm sure this sounds natural
T101_07 (A) 7. Miss Jones rarely says anything at staff meetings. 4 = I'm sure this sounds natural
T101_08 (A) 8. I barely took any notes during the lecture. 4 = I'm sure this sounds natural

The original coding can remain with the test items T101 09 to T101 16

T101_09 (A) 9. I’ve heard any news about the campaign. 1 = I'm sure this sounds natural
T101_10 (A) 10. The policemen found anything at the crime scene. 1 = I'm sure this sounds natural
T101_11 (A) 11. Anyone has not finished their homework. 1 = I'm sure this sounds natural
T101_12 (A) 12. Anyone did not follow the instructions. 1 = I'm sure this sounds natural
T101_13 (A) 13. The journalist believed ...... of the singer. 1 = I'm sure this sounds natural
T101_14 (A) 14. I suppose that you said anything to Sam last night. 1 = I'm sure this sounds natural
T101_15 (A) 15. Lucy probably bought anything last week. 1 = I'm sure this sounds natural
T101_16 (A) 16. I probably saw anyone at the weekend. 1 = I'm sure this sounds natural

And these items need to be deleted altogether




How to invert Likert values in Excel
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For items T101_01 to T101_09, the numbers that SoSciSurvey gave each response need to be inverted;
the 1s need to become 4s, and vice versa. With 4 Likert points going from 1 to 4, we simply can type
=5-U3 into the cell AC3 in the above example. This would give us the number 4 in this cell. Then, click
your mouse on this small square handle in the bottom-right corner of this cell and drag it down all the
way to the last observation in this column while you press the mouse button. Thereby, you apply the
same formula to the other cells in this column. You do the same for items T101 02 to T101 9.



